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QUESTION 1
You connect to a database server by using Tableau Prep. The database server has a data role named Rolel.

You have the following field in the data.

Material
Concrete
Concret
Brick
Brik
sleel
Stel

Drywall

You need to apply the Rolel data role to the Material field.

Which two actions should you perform? Choose two.

A. From the More actions menu of Materials, select Valid in the Show values section.

B. For the data type of the Material field, select Custom, and then select Rolel.

C. From the More actions menu of Materials, select Group Values, and then select Spelling.

D. From the More actions menu of Materials, filter the selected values.

Correct Answer: BC

To apply a custom data role to a field, you need to select the data type of the field and then choose the data role from
the list of available roles. This will validate the values in the field against the data role and mark any invalid values with a
red exclamation mark. To fix the invalid values, you can use the Group Values option and select the Spelling algorithm,
which will group values that are close in spelling and replace them with the most frequent value in the group. This will
help you standardize the values in the Material field and match them with the Rolel data role. References: The

information is based on the following sources: Use Data Roles to Validate your Data - Tableau New in Tableau Prep:
Automatically identify data quality issues with Data Roles

QUESTION 2
You have a Tableau workbook that contain three worksheets named Sheetl Sheet2 and Sheet3.
You create several filters.

From the Data Source page you plan to add data source fillers When type of filter will appear in the Edit Data Source
Filters dialog box?

A. A table calculation filter used on Sheet
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B. A top N condition filer on a dimension in Sheet 1 and Sheet2
C. A context filler on a dimension m Sheet3
D. A dimension Maw on all the sheets

Correct Answer: B

QUESTION 3
HOTSPOT

You have the following worksheet.

ters
e Sheet 1
Order Date

State 2018 2019 2020 2021
Marks Alabama 6,13% 10,031 17,682 19,511
Arizona 8,235 17,906 24,148 35,282
L Arkansas £,303 6,746 8,970 11,678
- o & California 91,304 179,747 311,299 457,688
Color Size Teut Colorado 6,502 131,147 21,808 32,108
S o Connecticut 2,734 4,079 8,077 13,384
et s Delaware 4786 10,976 13,696 27,451

Detail Tooltip
District of Columbia 2670 2787 2,865
& Florida 34,248 49,425 63,029 83,474
Georgia 4,540 15,878 29,936 45,09
Idaho 465 1965 3,149 4,382
inols 16,203 34,781 55,814 80,165
indians 2 537 3577 35,035 53,555
lowa 1,191 2,904 3,863 4,580
Kamase 1 32N 1 490 27181 7014

You want to create a table calculation that shows sales growth over each year.

How should you complete the formula? (Use the dropdowns in the Answer Area to select the correct options to
complete the formula.)

Hot Area:
AVG([Sales) ~, "~ LOOKUPIAVG(Sales. 1) | [LOOKUP(SUM[Sales])) _
'RUNNING TOTAL([Sales]) LOOKUP[SUM{[Sales]), -1} LOOKUP{SUM{[Sales]), -1)
'SUM([Sales]] LOOKUP[SUM([Sales]), -2) PREVIOUS VALUE(D)

Correct Answer:
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AVG([Sales]) LOOKUP{AVG([Sales]). -1) LOOKUP({SUMI{[Sales]))
RUNNING TOTAL{[Sales]) LOOKUP(SUM([Sales]), -1} LOOKUP{SUM{[Sales]), -1)
[SUM([Sales]) ' LOOKUP(SUM([Sales]). -2) |PREVIOUS VALUE(D)

There are different ways to create a table calculation that shows sales growth over each year, but one possible answer
is:

SUM([Sales])

LOOKUP(SUM([Sales]), -1)

PREVIOUS_VALUE(0)

To calculate the sales growth over each year, you need to compare the current year\\'s sales with the previous year\\'s
sales and divide the difference by the previous year\\'s sales. You can use the SUM, LOOKUP, and
PREVIOUS_VALUE

functions to achieve this. The SUM function returns the total sales for each year. The LOOKUP function returns the
value of an expression in a target row, specified as a relative offset from the current row. The PREVIOUS_VALUE

function

returns the value of the expression in the previous row, or a specified value if there is no previous row. The formula for
the table calculation is:

(SUM([Sales]) - LOOKUP(SUM([Sales]), -1)) / PREVIOUS_VALUE(0) This formula subtracts the sales of the previous
year (LOOKUP(SUM([Sales]), -1)) from the sales of the current year (SUM([Sales])) and divides the result by the sales
of

the previous year. If there is no previous year, the formula uses 0 as the denominator (PREVIOUS_VALUE(0)) to avoid
division by zero errors.

References:

Tableau Certified Data Analyst Exam Prep Guide, page 11, section "Creating Calculated Fields"
Tableau Help: SUM Function

Tableau Help: LOOKUP Function

Tableau Help: PREVIOUS_VALUE Function

QUESTION 4
HOTSPOT
You have a data set that contains three columns named Sales, Profit, and Quantity.

You need to build the following scatter plot.
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Rows shelf: Profit v

Quantity
Sales

Columns shelfi- Profit

Quantity
Sales
Area v

Marks: ea
Circle
Density
Polygon
Shape
Correct Answer:

Rows shelf: Profit

Quantity
Sales

Columns shelf: Profit

Quantity
Sales

Area
Marks; Falks

Circle
Density
Polygon
Shape

To build the scatter plot shown in the image, you need to place the Profit measure on the Rows shelf and the Sales
measure on the Columns shelf. This will create a Cartesian chart with Profit as the y-axis and Sales as the x-axis. Then,
you need to change the mark type to Circle on the Marks card. This will display the data points as circles that vary in
size according to the Quantity measure. You can also add color or shape encoding to the marks to show additional
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dimensions or measures in the view. References: Build a Scatter Plot Understanding and Using Scatter Plots Scatter
plot in Tableau

QUESTION 5

DRAG DROP

You have the following calculated fields in a worksheet.

[Calcl] = DATEADD (\Vyear\\, -1, TODAY ()

[Calc2] = DATETRUNC (\'month\\', DATEADD (\\year\\, -1, TODAY ())
You want to calculate the month to date value of the prior year.

How should you complete the formula? (Drag the appropriate Options to the Answer Area and drop into the correct
locations.)

Select and Place:

Opticns Answer Arca
| Teelel ' . . .
L 1 | [Order Date’ Option
Cz1c2] | £ o i e S L e
e AND [Ordor bDake | Option

Correct Answer:

Optiens Answer Arca
Y T o I
“= ;
AND [Ordcr batce Czlc2] |

‘order Date]

TODAY () |
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